RARVEMBERS

The mass of 2 cubes is equal to Lucy has picked I7 apples.

the mass of a cone and a sphere.

She wants to give her S friends 6

i} . apples each.
Q@ Q@ How many more apples does she

The mass of a cube is 10 g. heed to pick?
The mass of aconeis 2 g.
What is the mass of a sphere?




RARVEMBERS

n There are 3 fimes as many cars “ The ratio of blue to yellow counters in a
as trucks on a road. boxis7:3

72 blue counters are removed from
the box.

There are 264 trucks on the road.

There are |72 red cars.

The ratio of blue to yellow counters is
How many cars are not red? nowsS : 6

How many blue counters were in the
box at the start?




